Prénom : ………………………





     Date : ……………………
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 Résous ces calculs en utilisant le procédé de compensation.



599 + 356 = …………………………………………


126 x 50 = …………………………………………


345 - 99 = …………………………………………


1357 - 496 = ………………………………………


12 : 0,5 = …………………………………………


2375 + 299 = ………………………………………


480 x 500 = ………………………………………


3465 - 395 = ………………………………………


540 : 18 = …………………………………………


34,2 - 0,9 = …………………………………………








795 - 197 = …………………………………………


459 + 697 = …………………………………………


60 x 25 = …………………………………………


208 + 692 = ………………………………………


25,2 : 12,6 = …………………………………………


8823 - 997 = ………………………………………


3,5 x 18 = ………………………………………


204 x 8 = ………………………………………


21 : 0,03 = …………………………………………


799 + 285 = …………………………………………











